Listed below is the population by state for the 15 states with the largest population. Also included is whether that state’s border touches the Gulf of Mexico, the Atlantic Ocean, or the Pacific Ocean (coastline).
[image: image1.png]Rank state Population __Goastiine
1 Cafoma 3,563215 Yes
2 Tews 23,904,380 Yes
3 Nework 19,207,729 Yes
4 Foida 18,251,263 Yes
5 llinos 12,852,548 No
6 Pemsyhania 124279 No
7 ono 11,466,917 No
8 Michigan 10,071,822 No
9 Geoga 9504750 Yes

0 NohCaoina 9061032 Yes
M Newdersey 8,685,020 Yes
12 Vigiia 7712091 Yes
18 Washington 6468420 Yes
14 Massachusets 6449755 Yes
5 indana 6345280 No





.:.

Note that 5 of the 15 states do not have any coastline. Suppose three states are selected at random. What is the probability that:

a. None of the states selected has any coastline?

b. Exactly one of the selected states has a coastline?

c. At least one of the selected states has a coastline?

SOLUTION:
a.
This is a hyper geometric distribution with N the 15 states in the population; S the 10 states with coastlines; n the sample of 5; and x is the number of states with coastlines chosen. The probability by formula [6-6] is:
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b.
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c.
P(X( 1) = 1 – P (0) = 1 – 0.022 = 0.978.
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